
Subject: Re: Ideal fertility sons and daughters v613 v627 v628 
Posted by rkbroussard@prc.utexas.ed on Tue, 01 May 2018 19:40:54 GMT
View Forum Message <> Reply to Message

Thanks so much for your response! Just to clarify, then, that would mean that a value of 0 on
variable v629 (Ideal number of either sex), does NOT necessarily mean that the respondent would
like 0 children. Instead, it means that the respondent simply did not provide a response for v629,
but rather only provided a response for v627 and v628? 

If this is the case, then why are these non-responses labeled as 0 rather than just missing? And is
there any way to find the respondents who actually said they would ideally have 0 children? 
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